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Question 1 of 63

Booklet A (28 x 2 marks) 
For each question from 1 to 28, four options are given. One of them is the correct
answer.  

A) grow

B) breathe

C) respond

D) reproduce
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A) A

B) B

C) C

D) D
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A) 1
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B) 2

C) 3

D) 4

Question 4 of 63

In which part of the digestive system is digested food absorbed into the blood?

A) gullet 

B) stomach

C) small intestine

D) large intestine

Question 5 of 63

A) A

B) B

C) C

D) D
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Which one of the following objects will break easily when bent?

A)

B)

C)

D)
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A) 4.0

B) 4.3

C) 5.0

D) 5.7
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A) steel

B) wood

C) glass

D) plastic
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Ignatius wants to measure the temperature of hot water in a beaker. Which one of the
following diagrams shows the correct position of the thermometer when taking temperature
reading?

A)

B)

C)



D)
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A)

B)



C)

D)
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A) C only

B) A and B only

C) C and D only

D) A, C and D only
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A) A and C only

B) B and D only

C) A, B and D only

D) B, C and D only
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Question 13 of 63

A) A, C and D only

B) A, C and E only

C) B, C and D only

D) B, D and E only

Question 14 of 63

Which one of the following will happen if part E is not functioning properly?

A) Food will not be digested at all

B) More digestive juice will be added to the food

C) Digested food will not be removed from the body

D) Less water will be removed from the undigested food
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A) A

B) B

C) C

D) D
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A) A

B) B

C) C

D) D
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A) 1

B) 2

C) 3

D) 4
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A) Andric and Benny only

B) Andric and Claris only 

C) Benny and Doris only

D) Claris and Doris only
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A)

B)



C)

D)
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Ali wanted to make a magnet using the stoke method. The diagram below shows the
different ways Ali used to stroke the metal rod. Which one of the following ways is incorrect?

A)

B)

C)

D)
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A) 1
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B) 2

C) 3

D) 4

Question 22 of 63

A) The North Pole of the magnet magnetised the needle

B) The magnet attracted the needle as it is a magnetic material

C) The North Pole of the magnet repelled the North Pole of the needle

D) The needle moved away and came to rest in a North-South direction 
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A) A and C only

B) A and D only

C) B and C only

D) B and D only
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A) 1

B) 2

C) 3

D) 4
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A) 1
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B) 2

C) 3

D) 4

Question 26 of 63

A) Less light from the lamp enter Mrs Goh's eyes

B) The lamp shade blacks all the light from the lamp

C) Less light is reflected from he lamp into Mrs Goh's eyes 

D) Shadow of the lamp formed on the lamp shade blocked the light from entering Mrs
Goh's eyes
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A) 2

B) 3

C) 4

D) 5
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A) W

B) X

C) Y

D) Z
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Booklet B 
This section is designed for extended answers that parent/ teacher will have to assign
and guide child to attempt after the test has been completed. 
Grading: This question type is not graded on this system and will not affect the final
score as it was designed in such a way that it requires manual assistance. 

 
Please type "done" to proceed to the next question 
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Question 30 of 63

Question 31 of 63

Food from the stomach is next passed on to the ____

A) large intestine

B) gullet

C) small intestine

D) mouth
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Question 32 of 63

Question 33 of 63

B:_______
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Choose the sources of light 

A)

B)

C)

D)
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Question 36 of 63

Question 37 of 63

Z:_____
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Question 38 of 63

Question 39 of 63
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Question 40 of 63

Question 41 of 63
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Question 42 of 63

Question 43 of 63

If Jiaxuan did not use the same type of digestive juice for all three breakers, how will that
affect the experiment? Explain your answer

Question 44 of 63

Suggest another variable that Jiaxuan has to keep constant when conducting the
experiment.

Question 45 of 63

Jiaxuan concluded that the smaller the size of food, the shorter the time taken for it to be
digested. Explain Jiaxuan's conclusion
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Question 46 of 63

Question 47 of 63
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Question 48 of 63

When Uncle Lim's customers wanted to eat the buns, they realised that the buns were too
hot to hold with their bare hands. They would use the paper bag to hold the buns instead.
Explain why.

Question 49 of 63
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Question 51 of 63

Question 52 of 63

State the relationship between the number of batteries and the magnetic strength of
electromagnet 
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Question 53 of 63

If Albert fixed the number of batteries used to three, suggest another way to make the
distance the toy car was pushed before being attracted by the electromagnet to be shorter
than 6cm

Question 54 of 63
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Question 55 of 63

Question 56 of 63

After a while, the balloon became bigger. Explain why.
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Question 57 of 63

A) position 1

B) position 2

C) position 3

D) position 4

Question 58 of 63

Position of Toy B:_____

A) position 1

B) position 2

C) position 3

D) position 4
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Question 59 of 63

Explain your answer in (a)

Question 60 of 63

For the shadow performance to be successful, explain why the screen should not be made
of wood.

Question 61 of 63

Question 62 of 63

Explain your answer in (a)
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